EARAROBEEIERT — 2 N— IBISH —F

2016537148 (B) 26@EZHE1H

m 5 HEER B1 45%R— (xwlm | memml - |y ) e pa
[AE4£] 1% :300,000" ~ 2%&:54,000”  3#%&:21,000 ™  43%&:1500MH  5&:0H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N - > 4 | TR 1:44.4 1-1-1-1 | 39.2| -— 2 482 |TTTKR (BEHE)
1\7|7|7zV7 ‘. T 0 - (o L=
L:F4—TANA B:bhol—T7 89— g—L— - T vIN> - T7—LBERE
=t ge s FHPIs g 144. 20— . — BHEE (BHE)
S =D H o4 e 1(424)8 2-2-2-2 | 39.5 1 (4_732) it
RENTIFANT G BELT TS N— |A EIR
o ) 4 g | #LEBA 1:46.3 6-5-4-4 | 40.4 | — 4 507 |BHEE (BEE)
E—XR—&— TE50 & Gy | A ()
LTIRAFY I B:TI—IIF—I EvJlLy RT7—L
= 44 | BRKRE 1:47.1 4-4-3-3 |41.4| — 3 474 | TREE (BEHE)
FAILRY S A= 57.0 @ Gy |MEES
LTI/ VR BTAILTYRRL HE7 1 I L8EHSH
D I 4 5 | KIHEE 1:47.4 3-3-5-5 |41.5| — 6 454 | FERB (BHE)
)—7J49 Vi ~ 7 54.0 (11/2) (-2) NHEIEH
R:7VFEE BIRAHFAT FAFAT7— L
; 4 5 | AFBE 1:48.5 7-7-6-7 | 41.9| — 5 492 | BREH (BEHE)
R7Y-—=TI 56.0 5) wg | B Tr-xbEVa>
R:TLLFFE2Ta BT aTAT J—HrTr—L
RN _ 6 | SHEKX 1:49.0 5-6-7-6 |42.3| — 7 503 | HLE (BEHEB)
75|5] %> /‘Jl:?} 1) 56.0 2 1/2) (o) | AfEEE
LH A Y E - BT NERT 4T — it
® I —F—EBIERL
13—7+— 7,3,6,1,5,4,2
A== 7,3,6,1,4,5,2
Jol=5r= 7,3,1,4,6,2,5
40—+ — 7,3,1,4,6,5,2
[ N3
BB 7 460M 714K 3-7 120H B = 3-7 140H 3EHE 3-4-7 430M
8 B 7 1004 4-7 300M B H 7-3 480M K31 7-3-4 2,130
3 1009 3-4 190M

ABICOVWTRDTEEERROODE. TR LIV,




